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s, Consider & double slit inlerference experiment where the ditlance belween the shils i
d = T x 10! m and the distance 1o the sorem ks 30 meters. The second interference |
minloom is p = 20 cm Eom Lhe normal line between the olits and the screen. What

the wavelength of the Fight?
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11, A light ray travels imside n Zircon light pipe. The index of refraction of the cubic
Tirconin ks 2.3, What is (he critical angle for total internal reflection? .
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A Bight ray A = 806 nm it incident on n half plane {n = 1.8) at #; = 677, What is the [e) 19"

refracted angle #37 What Is the wavelength of the refractod ray?
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12. A eniform £ field of 1.7 Tesla in directed into the plane of the paper. A 130 twen coil
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The radine of the loop bs 0.6 m, What Is the maximum voltage developed by the coil?
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15. A capatitor systern in charged Lo & voibage ¥ 4 SN ¥V and Ched diihirged Hotgs 3
What it the voltage across espacitor &1
. " the o rexisior as shown below. What is the time constant of the discharge?
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